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STEEL REINFORCED CONCRETE SLAB SHEAR MONOLITHIC CONNECTICN
VARYING THICKNESS 2"-6" [S0mm-150mm] —-\\ BETWEEN BEAM AND SLAB —
- \

STEEL REINFORCED CONCRETE JOISTS
VARYING DEPTHS TO ACCOMMODATE |
HIGH BENDING MOMENT AND DEFLECTION CRITERIA —

T beams in a one-way beam-and-slab floor




T beam as a bridge girder




Moment Strength of Concrete Sections
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Rectangular Sections :
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Increase Bending Strength by Using Flange Area

——— A, steel area can

/ be increased easily




T beams in a one-way beam-and-slab floor

Built-in T Section
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Effective Flange Width (b )  [nsverse

Shear flow

Transverse
tension

Flexural <
compression

Theoretical stress distribution

compression
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Simplified rectangular stress distribution




Effective Flange Width ( bg )
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Continuous T-Beam

Compression Area
in Sections

Bending Moment

Section A-A Section B-B
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Section C-C
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Midspan section: A-A

Case 1:Compression area in
flanges and web

Behave as a composite

T-section

Case 2: Compression area in
flanges only
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Behave as a rectangular
section: width = bg

Support section: B-B

Compression area in web
(flanges cracked)

Behave as a rectangular
section: width = b,
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